SAP ABAP table REEXC DUNNING CONTROL CC X {Dunning Control per Company Code and Add. Fields (T047)}

REEXC DUNNING CONTROL CC X-MANDT = TO00-MANDT T000

_______________________ 0..N IMANDT [CLNT (3)]

______________________________________ ToO1

1 REEXC DUNNING CONTROL CC X-MBUKRS = T001-BUKRS _ 8 qu:TI MANDT [CLNT (3)]

%01% REEXC_DUNNING_CONTROL CC X-RBUKM = T001-BUKRS _ ¢ BUKRS [CHAR (4)]

0. -REEXC_DUNNING_CONTROL CC X-SMHND = T021M-SRVAR
e T021M
_______________ MANDT [CLNT (3)]
- __REEXC_DUNNING CONTROL CC X-SMHNK = T021M-SRVAR 0..N [PROGN [CHAR (8)]
[ - - -0..N [ANWND [CHAR (5)]
____________ SRVAR [CHAR (3)]




